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.CG Maths.
Worked Solutions



Any writing in blue indicates what must be written in order to
answer the questions and get the marks. The worked

solutions have been designed to show the smallest amount of
work which needs to be done to answer the question.

Anything written in green in a cloud doesn't have to be
written in the exam.

Anything written in orange in a rectangle doesn't have to be
written in the exam and is there to show what should be put

into a calculator or measured using a ruler or protractor.

If you find any mistakes or have any requests or suggestions,
please send an email to curtis@cgmaths.co.uk
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Please note that these worked solutions have neither been
provided nor approved by the Standards and Testing Agency

and may not necessarily constitute the only possible solutions.
Please refer to the original mark schemes for full guidance.
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All three numbers can be added at the same time. Ensuring
that the units place of each number is in the same column

Anything multiplied by 0 is 0

Working out the difference between 302 and 10
works out what needs to be added to 10 to get 302
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Ensuring that the decimal point is in the same column for
both numbers when adding. Where there is nothing in the
hundredths place for the 8.6, this can be considered as a 0
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Multiplying a whole number by 10 adds one 0 on the end as this moves
all the digits up a decimal place, making them worth 10 times more

Multiplication can be done in any order.
6 x 11 = 66

66 x 10 = 660
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Moving the decimal point once to the left divides by 10
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The denominators need to be the same so that the fractions can be added.
Multiplying the numerator and denominator of 2/3 by 3 converts it into 6/9.

Then the numerators can be added and the denominator stays the same

Remember to add a 0 on the second row to multiply
it all by 10 as 80 is 10 times greater than 8
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Multiplying by 1000 is multiplying by 10 3 times.
Moving the decimal point 3 times to the right does this

2/3 + 1/3 = 3/3 = 1. Then adding this 1 to the 2 gives 3

First working out 1/10 of 30 by dividing 30 by 10. 30/10 = 3.
Then finding 7/10 by multiplying the result by 7. 3 x 7 = 21
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8.000 is the same as 8. Adding 0s after
the 8 makes the subtraction easier

Multiplying the denominator by 2 has the effect of dividing by 2

The denominators need to be the same so that the fractions can be added.
Multiplying the numerator and denominator of 1/2 by 3 converts it into 3/6
and multiplying the numerator and denominator of 1/3 by 2 converts it into
2/6. Then the numerators can be added and the denominator stays the same
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26.000 is the same as 26. Adding 0s
after the 26 makes the subtraction easier

10% + 5% = 15%. 10% can be found by dividing 3200 by
10, which is 320. 5% is half of 10% so dividing 320 by 2

works out 5%. Adding 160 to 320 works out 15% of 3200
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1% x 2 = 2%. 1% can be found by dividing 3000 by 100,
which is 30. Multiplying 30 by 2 works out 2% of 3000

Listing out the 73 times table and using short division
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10% x 8 = 80%. 10% can be found by dividing 115 by
10, which is 11.5. Multiplying this by 8 finds 80% of 115

The denominators need to be the same so that the fractions can be
subtracted. Multiplying 7 by 9 gives 63, which is a common multiple of
7 and 9, so this can be used as the common denominator. Multiplying

the numerator and denominator of 2/7 by 9 gives 18/63 and
multiplying the numerator and denominator of 1/9 by 7 gives 7/63. The
numerators can then be subtracted and the denominator stays the same
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21/2 is basically 2/1 + 1/2 = 4/2 + 1/2 = 5/2. The denominators need to be
the same so that the fractions can be subtracted. Multiplying 2 by 3 gives 6,
which is a common multiple of 2 and 3, so this can be used as the common
denominator. Multiplying the numerator and denominator of 5/2 by 3 gives
15/6 and multiplying the numerator and denominator of 2/3 by 2 gives 4/6.
The numerators can then be subtracted and the denominator stays the same

Remember to add a 0 on the second row to multiply
it all by 10 as 60 is 10 times greater than 6
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10 = 10/1 = 40/4. 2/1 + 1/4 = 8/4 + 1/4 = 9/4

BIDMAS, the order of operations needs to be followed. Division
comes first so this is done before the addition. 4/2 = 2. 6 + 2 = 8

Divide by the denominator then multiply by
the numerator. 8 x 4 = 32 so 80 x 4 = 320
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